
Exam3 A

# (a) bu = -Sbnn-4burn=-5

- X +jx+y = (x+4)(x+ 1) = 0 =y
= -4

,
+

(b) bu = A (q + B( 1)" ; bo = 2 b=2
=

2 = A +B A =- 4/3 , B =
1%

&↑+-4A -B
bu = - Y(z(4) + 10( 1)"

y = -31

by = - 5(2) - 4(2)
= - 18 =

- 64 +10
-

by =- 5) -18)
- 4(2) = 82 = 20

3

(c) Guess bu = Catbn) ·2 : sub :

Catbu) -2 = -5(a+b(n -1))2"-4(a+b(n-2)2In2
↑Catbu) = - 10(a +b(n-1) - Y(a+b(n-2)

+ 42

n
: 4b = - 10b - 43 +4 => b=8

= 49

4a = - 10a + 10b
- 4a +8b= 18a = 186 =

a
= b = 4

, bu =(+qu) .2

#(a) A4" + BnY + (3y2 + D(3)"



(b) an = AT (c) Ca+bu)4"

(d) AtBn+Cn2+Dr

# (a) Not isomorphic, degree sequence
-

-
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3
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3
.
3
.
3
,
2 = 4

,
4
,
3 . 3 .2 ,2not same,

(b) Not isomorphic , J contains
-
-

a sub graph isomorphic to K*(
but HE Ksis does not,

(c) It is true
:

13

e
# (a) Impossible ,

because total

degree 13 is odd

Ch #orT
many possible

(c) n (m- 1) b/c Knis(n-1-regular



(d) 546-1 = 10 vertices (1 shared

(e) 10 + 15= 25
shared vertex)

(f) k(G) = 1 Cremve

(g) )(d) = 4 (u sing the Kst
b
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(b) 4
,
4 ,3, 3 ,

3
, 3

(c) k(d) = 2
(remove boe)

(d) X(0) = 3 (remove (ab) , (a ,f) , (a ,e)

(el Laibifiadibice ,a, ) 1
=9

(f) (b ,a ,
e
,
f , b ,d , e , c , b) l

= S

l =5

(g) (a , bi fie ,dic

(h) <a ,
b
i c , die , fia l

= 6


